alphal3 4eX4aX

alphal3 4eX4aX:cyclenum {run == 5440}

0.34
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0.28

0.26

0.24

0.22

X

0.2 X

4061 4062 4063 4064 4065 4066 4067
cyclenum




alpha46_4eY4aY

alpha46_4eY4aY:.cyclenum {run == 5440}

B X
0.26—

- X
0.25—

= X
0.24+—
0.23—
0.22+H—

: ¥

| | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | |
4061 4062 4063 4064 4065 4066 4067

cyclenum




deltal3_11X12X4eX

-1.1

-1.2

-1.3

-1.4

deltal3 11X12X4eX:cyclenum {run == 5440}

X

4061 4062 4063 4064 4065 4066 4067
cyclenum



deltad6_11X12X4eY

deltad6_11X12X4eY:cyclenum {run == 5440}

X

4061 4062 4063 4064 4065 4066 4067
cyclenum
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